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TERM-1(2021-22)
H'3 YHAS UII(Model Test Paper)

IfES(Mathematics)- FHTS3-2<H(Class 6™) |
a5 wid(Max. Marks) -40 AH(Time Allowed) — 90 f{a(90 Min.)
&<(Note)-

1. A9 I-[FI'25 Agd! TS| (All questions are compulsory.)
2. YA& U39 &9 40 gg-feamit €39 @8 1-1 " ? yas Ia|

There are 40 multiple choice questions of 1-1 mark each.

DEdT TgTRT R I wixt 3, 0, 9, 1 3 T93 Q U9 viat & A3 T =t Bftmr 3
The greatest four digit number using digits 3, 0, 9, 1 without repetition is:
a)9301 b)9311 ¢)9103 d) 9310

2) 2730 9 3 T AESE WS UsT F9 |
Find the place value of 3 in 2730.
@3 (b) 30 (c) 300 (d) 33

3) feue 39 nigAe A'a3 od Ja9 foud Sont o
forest & mEss ¥ ot S2am?
In the given figure, what will be the place value of
number of marbles in hundred’s circle?
a) 3000 b) 2000 c) 400 d) 5000

4) V33Tt Bz yEE R4 100000 & ufnm 74T In international system of numeration, 100000 is read
as: :

a) f&a ¥ one lac b) = s ten million
c) & & IAT one hundred thousand  d) f¥x iz one million
5) 54 T TIE wig ¥ AES 37 foadiams g2

54 when rounded off to nearest tens will be:
a) 57 b) 50 c) 60 d) 55

6) I fifemit f¥9° fagar niggdtz 97
Which of the following is meaningless?
a)L b) XX ¢) XC d) VL

7) 2000 fHIrH= ™

2000 milligrams = gram.
@2 - (b) 20 (c) 200 (d) 2000

8) 35 fdinrt R fargar fodt Aifemr Jur 3 wamfenr fimr 39




9) 39 migt €t ¥t 3 I Btpr v fuRzg )
Predecessor of four digit greatest number is :
a) 1000 b)9998  ¢) 1001 d) 10000

10) 10109 & »@ST I Successor of 10109 is:
210108 b) 10101 10110 d) 10111

1i)m4ﬁ%mwm’:ﬁgmmﬁgm#mm '

Number 4 can be represented in which of the following dot pattern form?

a)nfE3 rectangle  b) =9 square c)f3grtriangle d) feast %5 3T 53t none of these

12) 35 &3 543 § 2T w3 vt mus 39
Observe the following pattern and fill in the blanks:
1x9+1=10
12x9+2=110

123x9+3=1110

- 1234x9+4=__
a) 1111 b) 11111 o) 11110 d) 110

13)H33"a—c‘ruaanfunfrfaaa‘r?r?

Which is the smallest whole number?
a) 1 b) 0 c) -1 d) US'T m?‘ &9 Ha@(cannot be determmed)

14) 15 x32+15x68-___ 0 | : e
e Ise . TRy Ese0 . 0 a1 g 1568

a)21 b)43 )12 d) 18

16) Iz fafimit fG° faadt 4 5% swtiar 19
Which of the following is divisible by 4?

a)51062  b) 51063 ) 51064 d 51065
17) f&3 39 Re 12 @ WA a=ads To: (22 ]
From the given figure prime factors of 12 are: & L2l
a) 2X3X2 b)2x3x3 )2x4x3 d) 2x3x4 A >
18) 5W3 7T HAS. ......... d: HCFof5and 7is .......... w
a)l b)7 «¢)5 d) 35

19) 1 3 20 3% niFmw Aftmret &t farast fotedt 39

How many pnme number are there from 1t020?
a9 b1 g8  d12 : e
20) %awa&ﬁaa’rms"féammﬁa&“‘mm“‘m@mu@aﬁ%m%uﬁsﬁ AH, 70RH
3 63 AW T5 I gt fie 3 fam Tt ‘3 Q0 foo 0B oow Su=dt? ‘ e

Three boys start from the same point togather. Their steps measure 56 cm, 70 cm and 63 cm respectlvelv
At what dustance from the starting point they will step togather gt same point? - -
: a) 2510cm b) 2520cm ) 2530cm - d) 2550 cm ~
21) @ fignrt 29 filshot Juret Budhrt 957

How many lines can pass through two points?

a) fEH (one) b) ¥ (two)  ¢) WERIET (infinite) d) Tt & mt (none)



22) Y99 &t Ag 3 I e _____ @@t 1 The biggest chord of circle is called
a) »iIu feniA (Radius)  b) €T (center) .
c) feR (Diameter) d) fegst RS St &t (None of these)

23) 5 for T fxaar 93937 I ?which of the following figures is a quadrilateral?

@ (b) () @

(24) €2 7S de =99 3B § o gart ¥ E327 37 In how many parts a simple closed curve divides a

plane?
@1 (b2 ()3 (d)4

(25) ﬁ%@ﬁ?ﬁﬁ%ﬁ&@&%f&%mﬁﬁ‘mﬁgéPakéﬁkgﬁ
37 {39 A3 I? From the given figure, find which of the following points is
situated in the interior part of the ZPQR

sA

(@B  (b)G (c)a (d)D

(26) Solve:(—=10) + (+5) + (—6) + (+3)
Solution: Step 1: (—10) + (—6) + (+5) + (+3)
Step2: —-10+6+5+3
Step3: —-10+ 14

Step4:  +4
Which of the above steps of the given solution is incorrect?
a) Step 1 b)Step 2 c)Step 3 d)none of these

RIS A3 (—10) + (+5) + (—6) + (+3)
I®: var 1: (—10) + (—6) + (+5) + (+3)
yr2: —10+6+5+3

uIr3: —10+ 14
ydr4: +4
TR Budas I5 e fao3 uar fe ot 0

a) UIr1 b) uar2 ours3 d) fegst &5 a=t =t
27) "9 99 AIE A +1 § woR St %némaﬂﬁ—lzjew%%a*ﬁ%ﬁsa?gaaﬁ%am

Let us assume that each white carrom coin represents +1 and ; . .
black carrom coin represents —1, then answer of given figure is: . . . . +

a)+1 b)) -2 ¢)+2 d) -1

28) f&3r f¥39 TamBe I Given figure shows: —
) W7 b =347 N
¢ +3-7 d) None of these B

29) feast Aftmr —3 3° 3 FU ¥ Which number is 3 more than —3 ?
ajl b)Jo ¢) -6 d) 6



30)weg:  -100-(-90)
Subtract:- -100-(-90)
a)-10 b) 190 ¢)10 d) -190

31) #ftnr Jur §us fig A foodt 9 & war foar 370N given number line, which fraction is represented by
pomt A?

SRR R S G e -
a) 2 b 1z c)1§ 13
32) &3 fize e arfenr vifas g1 faosht fiis § eam@er 90

In the given figure, shaded portion shows which of the followmg fraction?

a) § b)%c)-d)é

33) 3 1 lsi%rasﬂnrrﬁwrawv

7 18’ 21 0 1
Which type of fractions are = 7, vilTy

a) AHS like  b) »AH®  unlike ) 3% equivalent  d) feast RS et a5t none of these

34) A3l rﬂzawm%aﬁ%s*% : Hieg da fdgs wditfent| Qast e wdte fias © oo dardt
at aéaﬁ‘?
Sarita bought - metre long ribbon and Lalita bought ¢ metre long. What is the total length of ribbon they
bought?
a)lm b)gm c)%m d)-m

35 et nifqst R, f¥a <gar & 100 Tavaw smart Y9 Sfsmr famr 3, R 9 58 &
grfenr-nifaz &tz famr 31 - i3 Fvar o TRHeR U 3Ram
In the given figure, a square is divided into 100 equal parts, in which some parts are
shaded. Decimal form of this shaded part is:
a) 023 b) 032 ¢) 030 d) 0.28
36) 15 R =......qu¥ (15 paise=...... Rs.)
a) 0.015 b) 015 ¢) 15 d) 15
37) 35 fafimrt 35" foodt emvme dftmr 79 3 351 39
Which of the following decimal number is greatest?
a) 05 b) 005 «¢) 055 d) 0.505
38) ) 979 & &I YA 45.25 guP & udit 8rd TwEg § 50 quE 3, gaeE & GRg a8 gue
Thm 37
Raju bought a book for Rs 45.25. He gave Rs 50 to the shopkeeper. How much money did he get back
from the shopkeeper? .
a)4.35Rs b)4.75Rs €)5.25Rs  d)5.75Rs

S Fag ot Anfit Juret Jemrt T
A Circle has lines of symmetry.
a)1l b)2 ¢)4 d)»33 Infinite
40)%%%?@%@&&%%%8&%?
Which of the following English alphabet has no line of symmetry?
1) A b O ogu d)a




TERM-1(2021-22)
H'3® YIS UII(Model Test Paper)

IfE3(Mathematics)- TH3-A3ZH(Class 7%)
I wia(Max. Marks) -40 T (Time Allowed) — 90 fH2(90 Min.)
&2(Note)

1. AJ Yne T-Iga'f TJ&| All questions are compulsory.

2. Yrs U39 o nig @ yus g5l 1-1 feamilt g5 w897 40
There are 40 multiple choice questions of 1-1 mark each.
Q.1) ¥ Y3 II3(Find the value of): 30 — |-21]

a)51 b) 19 c)9 d) 30
Q2)(-1) - (-1 =?
a)-2 b)-1 c)2 d) fegst &5 A8 sJf(none of these)

Q.3) A3 3 83 U&3HI AYTS At Tt 32 (Which is the smallest positive integer?)
a)1 b) 2 -1 d)-2
Q.4) © AuTs Aftmiret € w3 - 10 3 Aae ufaEt Auas Aftmr 17 3 3¢ et Htmr Uz 331
The difference between two integer is - 10. If first integer is 17, then find the other integer.
a)7 b) 27 -7 d) 13
Q.5) (—6) X (=5) X 0T HB J: The Value of (—6) x (=5) x O is:
a)o b)-6 c)-5 d) 30
Q.6) U8 U3 F(Find the value of): (—7) + (=7)
a)0 b)1 c)-1 d)7
Q.7)-240 % A Aftmr &% 991 Sl AR 3 I91e® 16 YUz 997
By which number should (- 240) be divided to obtain 16 as quotient?
a)30 b)- 15 c)15 d)-80

Q.8) 8 ¥R, i fus T et fJAr ©IAER TS5?  What fraction do 8 hours of a day represents?

a); b3 I d):

Q.9) -3-“13 % T AF &t 3?7 Sum of fractions ; and % is:

5 1 5 29
a) g b) 5 C) H d) 5‘5



Q)16 Ti=? (3of16=7)
a)48 b) 8 03 d) 24
Q.11) I 1 W2 8 i i3 & ; gar uger 1 3.2 wifewr e Ga o o Rl 3rar uar

Raj reads % part of a book in 1 hour. How much part of the book will he read in 3 -;- hours?

11 11 11 3
a) ? b) ? C) E d) ;
Q12)+2=?
) 25
a)1 b) 55 Ok d) —1

Q.13) IEGSS U™ FI(Find the product): 1.3 X 7

va) 91 b) 0.91 ¢)7.3 d)9.1
Q.14) ¥5 U3 F3(Find the value of):13.6 + 4

a) 14 b)3.4 c)4.3 d) 13.2

Q.15) 53° € Ydd AT USTIJ|  Find the complementary angle of 53°.

a) 53° b) 47° c)37° d) 127°
Q.16) i3 f[I33 179, A0B B A® 39 I, LA0C T HY Uz &3 c
In the.given figure, AOB is strainght line. Find the measure of ZAOC. 50°
a) 50° b) 40° ¢) 130° d)100° A 0 B
Q.17) €9 T Y3* &I 7 WU HYST S T garer I
Find the angle which is double of its supplementary angle.
a) 120° b) 60° c) 30° d) 100°
Q.18) B3 fF3T 5, AT L I m 3 Stx T HB Uz = ”
In the adjoining figure, if I || m, then the value of x is: < 11> > 1
a) 50 b) 60 070 45 o \\T\‘3"'4°’° .
Q.19) AT 3t 712 T i 3= 505 9= I 3 g a I | \'

If one angle of a linear pair is acute angle, then the other angle is:

a) f58% A=(Acute angle) c) Wfad A= (Obtuse angle)

c) AHAE(Right angle) d) 7gs J=(Straight angle)



Q.20) WIS U 3: 5 guB T 50 Ui &8

Find the ratio of : 5 rupees to 50 paise

aj1:10 b)1:2 c)10:1 d2:1
Q.21) AT 6 et & Sz 260 FuR I, 3F WD 21 fBfen & iz (gu? e) usr a3
If the cost of 6 toys is Rs. 240, then find the cost of 21 such toys(in rupees).
2720 b) 630 c)840 d) 210

Q.22) 20% S S5 fg e, Express 20% as fraction.

1 1 1
a)% b)z ) d)

Q.23) AFT x T 30% = 72 IR I' x T U T R2r?

If 30% of x is 72, then x is equal to:
a) 120 b) 240 c) 360 d) 480

Q.24) AT o wrent e =Hg 80 U & wdleer 3 w3 100 u & 29 T 3 3F GRe w3 yFin3
Y3 33|

If a man buys an article for Rs. 80 and sells it for Rs. 100, then his gain percentage is:
a) 20% b) 25% c)40% d) 125%

Q. 25) 6000 JUB 3 8% ©F AG'® ©I &F 1 A'S T ATIS fas s 92

The simple interest on Rs. 6000 at 8% p.a. for one year is:

. a) Rs. 600 b) Rs. 480 c) Rs. 400 d) Rs. 240
Q. 26) I fafemit & faaz™ ARt 32 Which of the following is correct?

a)0>%4 b)0<%4 c)0=%4 d) ¥ E(none)

Q27) AP =L, 3?7 TUS I (12 =, then value of 7 will be):

a)3 b) 6 c)9 d) 12

Q.28) ¥¥ Y3 SI(Find the value of): ;—: + _7—2

-4 . 4 5 16
a5 b) 5 ) dos

Q.29) I—Zﬁ? fagd Aftmr AR @ g Y3 3 7R? What numbger should be added to %7 to get% ?

1 -1 41 ~41
a3 b) 35 )% d 55

Q.30) .75,-73,_7125 IR RE B, write -75,_73,-7— in ascending order.



Q.31) ASS F(Simplify): (—1)%
a)l b) -1 c) 99 d)-99
Q.32) x T WS Y3 J3I(Find the value of x): 9* = 729 |
a2 b)9 ¢) 81 d)3
Q33)axaxaxbxbxbEIEIIJ: Valueof(axaxaxbh xb x b)is:
a) a3b? b) a2b3 c) (ab)? d) abh®
Q.34) €3 feRfI3 gu B8 At U™ 3: 4% 104 + 7 x 103 + 5 x 102 + 6 x 101 + 1 x 10°
Find the number for the given expanded form: 4 x 10* + 7 x 103 + 5 x 102 + 6 x 10! + 1 x 10°
a) 47561 b) 47560 c) 475601 d) 407050601
Q.35) Io+ 3 wivgt R form & i v At S 37
Which of the following alphabets has a vertical line of symmetry?
amM b) Q c)E d)B
Q.36) WIS @ wig ‘2’ < wie mifiEt o e &t 32
What is the order of rotational symmetry of the english alphabet ‘2'?
a)o b)1 c)2 d)4
Q.37) I 3w fed f9a3™ 3 YA 3?2 Which of the following is a three dimensional figure?

a) TIVI(Square) b) i3 (Triangle)
c) AB7(sphere) d) Ba3(circle)

Q.38) & Tgarars fuafHz 9 s faa™a I° 987 How many edges are there in a square pyramid?
a)5 b) 8 )7 d)4
Q.39) Hg 9 3<2 dc &5 T2 gAT e & & SR

What Cross section is made by horizontal cut in a cone?

a) T3J1(Square) b) W"@?(Rectangle)
¢) 9a3(Circle) d) f3gH(Triangle)
Q.40) f&3 &7 &9 wet & fyr=zt &1,

The number of cubes in the given structure is:

a) 12 b) 10 9 d) 8




TERM-1 (2021-22)
H'3S YIS U3T (Model Test Paper)

AFES (Mathematics) AHTI-&< (Class-9%)
IS Wi (Max Marks) - 40 HH)Time Allowed( — 90fi{2)90 Min.(
&2 (Note)
I AJ YHS Agdl Iol All questions are compulsory.
I YHe Y33 R 40 sg-feamlt yims 1-1 wia 3 Ia

There are 40 multiple choice questions of 1-1 marks each.

1. Which of the following is an irrational number ? / 95 Bftmr fod fagat fa wufanw Hftpr 3

a)v225 b) 0.3796 c) 7.478478...... d) V23
2. If p(x) = 2x+1, find the value of p(1/2). AT p(x) = 2x+1 I, I* p(1/2) T HS U3T T3
(a) 2 (b)1 ()5 (d)3
3. 97=
(a) 3 (b) 1/3 (c) -3 (d) v3
4, A rational number between %and % is :- % w3 % < fegarg &g ufonw #ftpr )
2% (b) 2 ()& d) None of these/frst fodf It <t

5. Arational number can be expressed in the form of 3 where:

el yfHw Hfemr £ & 2 gu e Bftmr 77 Aarer 3, e

a) p,q are integers and q=0 (p.q YIS Aftpet g5 W3 =0 1)
b) p,q are real numbers and q#0 (p,q THIIEH Hith=t g& W3 q#0 E’l)
c) p,q are integers and q=0 (p.q FYTS FAftMIE IS W3 g=0 1)

d) p,q are irrational numbers and g0 (p,g WUTINT Hitp=t I& W3 g20 JN)

6. When we rationalize the denominator of i7 then it becomes g, then find the value of K.

=
Hé%éaa?uﬁﬂwét?a@é?mgaswa K T 08 U3 a3
a)14 b)7 V7 d)1

7. The product of a non-zero rational number and an irrational number is:
fEx do-faeg ufana Aftmr w3 g wufaiw e e Jeaes I
. a) always irrational (THHA" wufanw) b) always rational(@HH" Ufanw)
c) rational or irrational{ UfgR® A wufanm) , d)1

8. Ifthe Ien_gth of rectangle is (x+2) cm and breadth is (x+1) cm, find the area of the rectangle .
A a7 ez & 3T (x+2) cm W3 TIH (x+1) cm IR 3' QF W3 T 9395 U 7T |

(a) (x*+2x+3) cm? (b) (x*+2x+2) cm? (c) (P+3x+2) cm? (d) (x*+3x+3) cm?
9. Coordinates of the point where two axes intersect, are
rfige focemwia e ¥ wuR Re deR o5 ¢

(a) (3,0) (b) (0,0) (c) (0,5) (d) (1,1)
10. In the cartesian plane the horizontal line is called ..............

TJIEAS AH3E R BeA Jr § ............. e I5 |
a) y-axis (y-gd") b) origin (Y& fHg)
(c) x-axis (x-Gar) (d) None of these (fi *J Jgt &4i)



11. Find the value of k, if (x-1) Is a factor of p(x)=kx’-3x+k .
k T U8 U3™ 93 AT (x-1), p(x)=ke?-3x+kTr & EIT?SEI'E I
(a)2 (b) -> (0 3 (d) -2
12. Fmd the remainder when x*+ 3x* +3x+1 is divided by x+1
X+ 3% 43x+1 § x+1 &8 I ¥ 3 Tl U &I |
(a)2 (o (c)8 (d) 6

13. Find the coordinates of points A and B from the given figure.
€3 I 39 feu fgw Aw3 B fooen wa u3r a9 |
(a) A(4,0) & B(0,3) (b) A(0,4) & B(3,0)

(c) A(-4,0) & B(0,-3) (d) A(0,-4) & B(-3,0)

Sseussiunstliiinde
AL L L

14. The point in which abscissa and ordinate have opposite signs will lie in:
Safigfm Re a3 adte 8se s JR s ,fAn dad Rgwgerd:
a)lorllquadrant/  IFF Il Sardt b) l or il quadrant Il / A" |Il SE=
c)lorlll quadrant/ |77 Il Savdt d) llor IV quadrant/ lIF" VI S&t

15. Which of the following is not a polynomial? 9% v &F fagdt HgUT &t I ?
a) 4x*-3x+7 b) y? +V2 (c) x*+3Vx+2 d)s

16. The point which lie 5 units on the negative direction of y-axis is:

SafigH y-u3' SfgeTanaferfes s femddtgdt 3 S
a) (0,5) b) (5,0) c) (0,-5) d) (-5,0)

17. What is the degree of a zero polynomial? fHgd ggue < w3 ot det 2
a)o b)1
c) any natural number (€1 & Yfaafza Hftm) d) not defined (U3 &<H)

18. Find value of K, if x = 2, y = 1 is one of solution of the equation 2x+3y =K .

K THBUSTIIAASBE x=2,y=1 Afiege 2x+3y =K e BRI IS I

a)7 - b) 6 o5 d) 4
19. On a plane surface we can find ...............u...... straight lines .

RIAMEE AF 3 Wil ... fAdw Jut 83 Aae T |
(a) infinite (W&3) (b) 2 ()3 (d) None of these (feat T et &<il)

20. In the given figure if A, B and C are three points on a line and B lies between A and C, then :-
fe??réfazaﬁaﬁaa ABW3 C fog 3w 3 Afgz ﬁaﬁeaa@sﬁwm@cé&wam

¢ 3
(a) AB+AC=BC (b) AB+BC=AC
(c) AC+BC=AB (d) None of these (fogt " et &df)

21. Minimum number of points required to draw a unique line
e e fié fign o5 fedue Jur et et 7
a)l b)2 c)3 d)4
22. Mohan, Preet and Harman are participating in 100 m race. Their probabilities of winning race is as
follows:P(Mohan) =0.3, P(Preet)=1/2, P( Harman)=20% Whose probability of winning is greatest?

RI5, Y3 w3 g9vs B 100 Hieg 27 9 9791 3 39 Is, Gt @ IN FiSE @ Haresr Is o waarg 3P
(AT®) = 0.3, P (f3) = 1/2, P (THB) = 20% Wﬁ#ﬁﬂééﬂﬁ-ﬁawm?mé?
a) Mohan CEr)] b) Preet({I3)




¢) Harman(JIH®) d) all have equal probability(Fg € Haes' SIr=a J1)
23. What is the Linear equation for given graph ? &3 912 J[e 88 faggr vt miiegs J?

a)y=-9 b)y=9 cjx=-9 dx=9
24. One of the solutions of the equation x-2y = 4 is: AHIFIE x-2y = 4 T fiq Tz
a) (0,2) (b) (2,0) (c) (4,0) (d) (0,0)
25. Which of the following is a graph of the equation x -y = 5? fEJa" R faga mildgex-y=5 T W34 I?
S
r ©
NG e
a) : e b) § B3 x
EEFEEEPRES O - FAA 1 A
4 S i 0
b |
y: k F
541 HEES
E R o/ .
c) J} 5 -4 l-é- : ol d) e - 43 ; 2

26. In fig ABICD ,£ ABO = 750 and £ CDO =450 ,then < DOB is equal to:
&3 I8 fF39 &9 ABJICD , 2 ABO = 750 W3 £ CDO = 450 I? 3t 2 DOBEHIHT I
a) 300 (b) 750 (c) 1200 (d) 450

27. Infigljm amd tis transversal ,then x is equal to: f&3 J2 fF3T &9 Ijm W3 ¢

FeH R I 3t x T WE Ram
a) 80 ~ (b)70 (c) 50 (d) 80

28. In given figure, if lines PQ and RS intersect at point T, such that £PRT = 40°, ZRPT = 95°
and £TSQ = 75°, find 2SQT. /ﬁ\
R

€3 3 fF39 9, e Qw3 Rs fHgT 3 I 95 A9 £PRT = 40°, LRPT T
=95°W3 ,TsQ=75"I2 3F ,sQT T B I :
a) 40° b) 60° c) 95° d) 75°

29. A coin is tossed 1000 times with the frequencies: Head: 455, Tail: 545. Find the probability for each event.
e i1 § 1000 ¥5 Q&'8= '3 3 455 T9 W3 e 545 Tg wier 31 939 wear  Heresr uz a

a) 0.455 & 0.545 b) 0.5&0.5 c) 0.45 & 0.55 d) 455 & 545

30. The sum of all probabilities of an event is equal to: R & wesr B8 A Haresre er g 3:
a)4 b) 1 c)3 ’ d)2



31.
32.

33.

34,

35.

36.

37.

38.

39.

40.

Three angles of a quadrilateral are 75°, 90° and 75°. What is the fourth angle?

B ggggn e o dE 75°, 90° w3 75° Je 3t Far At I ?

a) 140° b) 15° c) 120° d) 130°

The angles of a quadrilateral are in the ratio 3:5:9:13. Find the smallest angle of the quadrilateral.
Ea ggsgn e dess913e U3 R g rogagn oI acras I

a) 14° b) 18° c) 36° d) 60°

Which of the following is not a parallelogram? 35 f&fawr f&d fagz ffa mi3g g3agda st 32
(a) Rhombus (AHTIIZH) {b) Square (€Jdn)

() Trapezium (AHSE AHTIISA) (d) Rectangle (Wf&3)

Eleven bags of wheat flour, each marked 5 kg, actually contained the following weights of flour (in kg):
4.97, 5.05, 5.08, 5.03, 5.00, 5.06, 5.08, 4.98, 5.04, 5.07, 5.00 )
Find the probability that any of these bags chosen at random contains more than 5 kg of flour.

FEI e Tt amirgt It 9, fam RT I3 5 B vifs dltsr famr 1, wins g wie @ 3 fad

5 (48 ¥9) Hs: 4.97, 5.05, 5.08, 5.03, 5.00, 5.06, 5.08, 4.98, 5.04, 5.07, 5.00
Ao 83 i faget RS wosa g8t ot g St f¥fos s Ydgwer 2,

a) 5/11 b) 7/11 c)a/11 d) 2/11
If P(E)= 0.05 then P(not E)=........ A9 P(E)= 0.05 I= I* P(not E)=........
a)o.s . b) 0.95 ¢) 0.05 d) 15

In given figure, if ABJ| DE, ZBAC=350 and £CDE =530, find /DCE.
&3 J2 fd39 9 ABIl DE, ZBAC=350 W3 £CDE =530 3 3* LDCEE WS Jar

(a) 62° (b) 92° (c)-90° ' (d) 60°

In a throw of a dice find the probability of not getting 4 or 5.
BIUARSHEAE3ING 4 7 5 T Qs A e uzrad| -

a) 5/6 (b) 2/3 (c)1/6 (d)%
Which of the following points lies on line x =y : %ﬁﬁhﬁﬁ?mﬁgéﬁ"x =y 3AMEI
a)(4,1) b) (0, 6) c) (0,5) d)(1,1)

When two lines intersect at a point then which angles are equal?

e 2 Iyt iy Rig 3 Jew 37 g2 A= SoET gR 95 2

a) Linear pair (S 7137) (b) Vertically opposite (g AaHY AT)
(c) Corresponding (Har3) (d) alternate angles (f&a’3g QE)

Which of the following angle can not be the exterior angle of a triangle

JI5 fefawt R faaa g fga © Sodt dF adf 3 Faen
a) 30° b) 179° c) 180° d)9o°



